Vdecmin:=127 V Ves:=05V Rsense:=0.15 2 Nr:=1 Nps:=6 Nsp:=

Nps
Vout:=19V Vf:=07V Vdcmax:=325V 1:=0.86 Nsp=0.167
Ves Npi=2
Ipki=—— — Ipk=3.333 A Lp:=400 uH Td:=580 ns Tprop:=160 ns
Rsense
Nr
Naux:=10.9
Freq_127:= ; 1 N Freq 127=44.725 kHz
(ka-Lpo( —+ ))—I—Td
Vdemin  ((Vout+Vf)-Nps) Freq_127:=49.725 kHz
1
Freq_325:=
Ipk-Lp- + 1 +Td Freq_325=62.645 kHz
Vdemaz ~ ((Vout+Vf)-Nps)

Power at Current limit

Pout_127:=0.5+Lp-Ipk® - Freq_127-n Pout_127=95.03 W/
Pout_325:=0.5-Lp -ka:2 +Freq_325-n Pout_325=119.722 W
4
Freq Comp:=

2

Pout_127
2.Lp-(Vout+Vf+(Nsp-Vd w—_
2-Lp-Pout_127-(Vout+Vf+(NSp-Vclcmcwr:))2 4 \/_ P ( e ! ( 2 cma:c)) n-Lp

4.Td
( )+ Vdemaz - (Vout +Vf)

n+Vdemaz® - (Vout + V) i

Freq_ Comp="77.516 kHz



. 12
Ipk_127:=4| 2 Pout_127 Ipk_127=3.333 A
neLp-Freq 127

. 12
Ipk_127.Comp:= 2-Pout_127 Ipk_127_Comp=2.67 A
n+Lp.Freq_Comp
Vdemin
Ipk_127_Delayed:=Ipk_127+ A «T'prop Ipk_127_Delayed=3.384 A
14
Ves_127_Delayed := % «Ipk_127_Delayed Ves_127_Delayed =0.508 V
T

d
Ves_cl_325:= M «|Ipk_127_Comp — m «T'prop
Nr Lp

R1 Selected for 1ImA< Igr<4mA

Ves_Offset:=Ves—Ves_cl_325 Ves_Offset=0.119 V Igr:=1.75 mA
Vaur:=-1 -M Vaur=-29.817 'V
Nauzx
1| V0u | R1=17.038 kR
| Igr |
Roffset::%fﬁget- 100 Roffset =6.802 k12 Rinternal :=6.6 k{2
qr

Rexternal := Roffset — Rinternal



Rexternal=202.206 2 [ NGIXECinaNNCEdCaISNCENEISICSSIENaNMItCHECSIStaNCeIONAO0IONMSINN

Vovp:=3.0V Vaux_ovp:=20-0.545V

R2:=Vovp Lil

Vauz gup —Voup R2=6.47 kR Td=(5.8-10"") s
Coss:=341 pF Lp=(4-10"") H
Td::%- \Lp-Coss Td=580.132 ns
P, R1-R2
721' «\Lp-Coss (Rl +R2)
Cd:= Cd=0.124 nF

RFF
Cdused:=Cd—20 pF

Cdused = <1.037- 10_10> F



